Creat a better life with smart drive

KRB F7IE A 36080239 JiiAX DPIZ 2023-04-07

CUVARK
Aanis

(© Copyright 2023 Cumark. AT RN

RINESRMEERAE

SHENZHEN CUMARK SCI. & TECH. CO., LTD.
foat: R AR KB RIS 68 SED R AEIF
BR4% . 518107

B31F: 0755-81785111

fEE: 0755-81785108

3L : www.cumark.com.cn

E RIS @ 400-619-2001




01

Content

03 ----mmomomoooeoooooo e REHN

03 ----mmmomooeoooooo e = ERAERE

o KB E A RPR BB AR S 1588

04 ----mmmmmm e EREahRE
-------------------------------- TN

05 ---mmmmmmmmoeoeooooe BARASE

05 ---mmmmmmm oo 1500rpm RIUZARSEL

07 -mmmmmmmmmmmmmmoe oo 3000rpm RFURARSEL

08 ~----mmomommooooooooo 3000rpm@1.2SF RFIRARSEL

09 -------ommmmeoe e L=

10 -mmmmmmmmmm e FRAZN

11 oommmmmmmmmommoo oo m&am

11 -mmmmmmm e BHRas¥

12 ommomeeen o BT

12 oo $855 B3 &S (H80~H132)

1 — $855 V1 275 (H80~H132)

14 oo 575 V18 &5 ( H80~H100)

15 ---mmmmmmmmmmmmeeeo #55 B3 %A (H112~H280)

16 ------m-o-omeomomocmeoeene %5 V1 T (H112~H160)

17 --omomemmomem oo #k55 B35 L&A (H112~H132)

17 --m-mmmmmmmmmmmmmmeee e NE

19 --mmmmmmmm BRI

19 ----mmmmmmmmso oo EERRT

KEHBRELHEBRTNA—RABREHMESHITURLEN , EBNAT KR, XK. =EN
ST T, BEAENE. SXREH. SHREEFHR. He 3000rpm BHEENAA
El IEC60034-30-2 9 IE5 BE3) , 1500rpm EBHLEERYN IE4 BERY , BEBTE2BRMBN=EE
SRR,

TRMEB AR EDSRRHRA R A B & H1E 2 IR 25 08 3K o) 88 K K L5 B [B) 5 L BE BB s Al
PR , EAF 1500rpm K3, 3000rpm FF, 3000rpm@1.2SF R R EATENE
BB, , THEEEEAE 0.75 ~ 75kW , 39F 1500rpm EBALEISEHL 1000 ~ 1800rpm EESMIE1T
3000rpm E2#L , BJSCI 2000 ~ 3600rpm 1T,

1

02



1 HIIEAY EPMa == UK A BRI AL B HUAL 6 TR IECHREZAETTZ, ) B3 = B3 R 24
) e IECHREERLEE, B 112=H112 IEC 60034-30-2 FRiHERERSE
T —— — TS 7 RERNEEZR N1 =1E5
5 S A%+ (A F7R 10, B IR 100, C 7R 1000124 ) 2=
15B = 1500rpm 3C=3000rpm 36B=3600rpm pree
HieeTh B kw L ZL =%
4 HiE . 4 — 8 FHH T %%
F=1C411
5 LAy FB=1C416
Y =1
r N
CUMARK IE5
_— Permanent Magnet assisted Synchronous Reluctance Motor
Tpe PMa90-3C3F- B3-N1(ZL) Power 3kW Speed 3000 r/min
Voltage 380 V Current 5.8 A Efficiency 92.4% P.F.0.90
Pole 6 LCLF ProtlP 55 Weight 14.1kg
2000-3600r/min Rating S1 No. KB2022030024
SHENZHEN CUMARK SCI & TECH CO.,LTD c E Q 4 C 4 P ass
. J

3000rpm/1500rpm
| B3 JEMZe KT 1 T IC4l1 B6/B7/BS
\%! R e EGELAN PNGLE IC411 B5
V18 e EHET ANIEE 1C411 Bl4

1.2SF

| B35 IR AKFT71f) H 1C416 V35

Dz Dz

HIe H80 H90 H100 HI112 H132 | H160 HI180 | H200 | H225 HIe H80 H90 H100 HI112 H132 | H160 H180 | H200 | H225
1500rpm 1500rpm

B3 [ ] [ ] [ ] O O O — — B3 [ ] [ ] [ ] [} [ ) — — —

V1 ° ° ° o o o - - V1 ° ° ° o ° - - -
V18 ° ° ° — — — — — V18 ° ° ° — — — — —

Dz Dz

HIe H80 H90 H100 HI112 H132 | H160 HI180 | H200 | H225 HIe H80 H90 H100 HI112 H132 | H160 H180 | H200 | H225
1500rpm 1500rpm

B3 e @) @) ° ° ° ° ° B3 o) e o) @) O ° ° °

V1 O O O ° ° ° - - V1 O O @) o ) - - -
V18 O O O - - - - - V18 O O @) - - - - -
®: A7 O TER —: T

R

1500rpm H112 H132 | H160

B35 ° ° °
*12SFHUE LA

31

L2 Sv PSS WEITT AT RERUSFIL AL

B | e

PMa 100

A .

03

15B

7.5

(ZL)

TN

w ]

1500rpm/3000rpm

120%  (60s) 200%  (3s)

*nN=3000rpm nmax=3600rpm 0.66*nN=1980rpm

*nN=1500rpm nmax=1800rpm 0.66*nNN=990rpm

*1.2SF

120%




FEALERASE

BUESEIE1500rpm KEEHEN RIS HEFEN + IR AAER (EHNA  SUERRTH150%F1055—5 )

FHUE ] 380V = AHASHSE . Awigise 2000V/60s TTHIIR IR | EEmE Bt e s Umfid e Bt [Sensorless
IR AT 3sov, R — - e T
BRI . A aow LI Witicioma | BOUSTT | ISTIMRTRIRIB AR SRR Ay R BETAREEE 0
o . e A IR ZEAZGB755HHUE o & (Munsell N/1.5) , %5 60 pml
AU R A/ N A ATE R e
325 AR B b 52 s TN N U g v
T BRI MET dtzo 7.5~15kW M5 Bii<15mA | iaGE) | BEHET 1209543 (60s) ;ﬁ“g KTY84-130/PTC-130
S N IR et
TR T | B AR 18.5~75kW M <20 A —IREIN B BT E80-F160: B,
| PR TR A
BT B
STl = i 2 AHISF1.2
Wt HLE 500V B (ICH16RS) .
B K Cint F180-F225 LA R BRI &
THEM | TR (s1) gl | BAsHL= 100MQ T AEIL90K.
W -15C ~40 C ;R REHHN SE ki L2600V 1~3s syt
EATEREE | 1000m B F R EE<95% ——— BEFI | Class F EIBRME  |CE
WA | —REN SRS RIV M RS LS Pipde | —RATIAIPSs. WK RF
SF1.2°H1P54
1500rpm RFIEBHIFARSE
BESH =HISE
=2 DJ% 1‘”1@ MK (load% . . _
BS %M(”%M%ﬁmmmwwwﬁ%
25 | B3 2% 3 3 2 | B
100% 75% 50% %,& %Z Egulb ?H%E ?& %i& EEIIII.. EE
EPMa80-15B0.75F-X%3-N2(ZL) 0.75 80 85.7 | 83.9 | 80.8 IE4 0.85 1.7 4.6 3 TBD | TBD TBD 4 0.0012| 11 56
EPMa80-15B1.1F-%3%-N2(ZL) 11 80 87.2 87 86.6 IE4 0.85 24 7 3 TBD | TBD TBD 56 10.0014| 12 56
EPMa80-15B1.5F-%3%-N2(ZL) 15 80 88.2 87.2 | 859 IE4 0.85 34 9.4 3 TBD | TBD TBD 7.9 (0.0015| 13 56
EPMa90-15B2.2F-3¢-N2(ZL) 2.2 90 89.5 89.1 | 88.7 IE4 0.85 4.8 14 3 85 235 117 11.2 |10.0031| 17 59
EPMa90-15B3F-33<-N2(ZL) 3 90 904 | 90.5 | 89.7 | IE4 | 0.85 6.4 19 3 65 190 117 149 |0.0037| 18 59
EPMal00-15B4F-x3%-N2(ZL) 4 100 [ 911 | 914 | 906 | IE4 | 0.85 85 254 3 40 130 120 19.8 |0.0061| 23 64
EPMal12-15B5.5F-%3-N2(HT) 55 112 [ 919 | 91.1 | 90.8 IE4 085 | 119 35 3 45 140 123 27.8 [0.0103| 44 65
EPMal12-15B7.5F-%3-N2(HT) 7.5 112 | 926 | 925 | 921 IE4 087 | 156 | 47.8 3 32 100 110 36.4 |10.0137| 49 65
EPMal32-15B11F-X3-N2(HT) 11 132 | 933 | 931 93 IE4 0.89 | 20.8 70 4 19 50 163 48.5 |0.0348( 65.5 71
EPMal32-15B15F-X3-N2(HT) 15 132 [ 939 | 93.7 | 936 | IE4 09 25.8 | 95.5 4 15 40 173 60.2 |0.0474| 73.5 71
EPMal60-15B18.5F-3-N2(HT) | 18.5 160 | 942 | 941 | 939 | IE4 091 35 [117.8 4 10 26 155 81.7 |0.0925| 116 73
EPMal60-15B22F-33-N2(HT) 22 160 | 945 | 941 | 939 IE4 091 43 140 4 75 20 155 100.3 |0.1082( 122 73
EPMal80-15B30F-X3-N2(HT) 30 180 | 949 | 945 | 94.2 IE4 0.88 | 55.5 191 4 TBD | TBD TBD TBD | TBD | 142 83
EPMal80-15B37F-X3-N2(HT) 37 180 | 95.2 | 949 | 945 IE4 0.88 66 |235.5 4 TBD | TBD TBD TBD | TBD | 153 83
EPMa200-15B45F-X3-N2(HT) 45 200 | 954 | 95.2 | 949 IE4 09 78.5 | 286.5 4 TBD | TBD TBD TBD | TBD | 221 84
EPMa225-15B55F-33%-N2(HT) 55 225 | 95.7 | 954 | 95.2 IE4 0.9 98.5 | 350.1 4 TBD | TBD TBD TBD | TBD | 255 84

*BA(T : EBR/A. $HEE/N-m. BEY/mH. 188/kgm2. 185/dB ( FEER )

05

- —RH | B
NS we | nEe | BT g | wERRSrD
ILd(A) | Pld(kW) [IHd (A) [PHd(KW)
EPMa80-15B0.75F-*%-N2(ZL) | 0.75 80 17 3 ES580H-01-0K7G/1K5P-3B 5 15 2.5 0.75
EPMa80-15B1.1F-X3-N2(ZL) 11 80 24 3 ES580H-01-0K7G/1K5P-3B 5 15 25 0.75
EPMa80-15B1.5F-X3%-N2(ZL) 15 80 34 3 ES580H-01-1K5G/2K2P-3B 6 2.2 4.2 15
EPMa90-15B2.2F-X3%-N2(ZL) 2.2 90 48 3 ES580H-01-2K2G/4K0P-3B 9.8 4 5.6 2.2
EPMa90-15B3F-X<-N2(ZL) 3 90 6.4 3 ES580H-01-2K2G/4KOP-3B 9.8 4 5.6 2.2
EPMal00-15B4F-X3X-N2(ZL) 4 100 8.5 3 ES580H-01-4K0G/5K5P-3B 135 55 10.5 4
EPMall2-15B5.5F-X3%-N2(HT)| 5.5 112 11.9 3 ES580H-01-5K5G/7K5P-3B 175 7.5 14.5 5.5
EPMal12-15B7.5F-*3¢-N2(HT) 7.5 112 15.6 3 ES580H-02-7K5G/011P-3B 25 11 17.6 7.5
EPMal32-15B11F-X3-N2(HT) 11 132 20.8 4 ES580H-02-011G/015P-3B 26 15 25 11
EPMal32-15B15F-X3¢-N2(HT) 15 132 25.8 4 ES580H-02-011G/015P-3B* 26 15 25 11
EPMal32-15B15F-X3X-N2(HT) 15 132 25.8 4 ES580H-02A-011G/015P-3B 35 15 25 11
EPMal60-15B18 5F-33¢-N2(HT)| 18.5 160 35 4 ES580H-03-018G/022P-3B 46 22 41 185
EPMal60-15B22F-X3¢-N2(HT) 22 160 43 4 ES580H-03-022G/030P-3B 61 30 48 22
EPMal80-15B30F-X3-N2(HT) 30 180 55.5 4 ES580H-04-030G/037P-3/B 75 37 66 30
EPMal80-15B37F-X3-N2(HT) 37 180 66 4 ES580H-04-037G/045P-3/B 91 45 79 37
EPMa200-15B45F-X3¢-N2(HT) 45 200 785 4 ES580H-04-045G/055P-3/B 115 55 94 45
EPMa225-15B55F-X3X-N2(HT) 55 225 98.5 4 ES580H-05-055G/075P-3/B 155 75 116 55

BUEREIE1500rpm KEAHBI R HFEFEN + IXANRREBAER (—RANA |, FERRY

*§iBA : ES580H-02-011G/015P-3BRISHABEIRENRRIXA]) ; EPMal32-15B15F-XCX-N2(HT)EEHAY , BUEr i

H145%E 103 #H— %,

#120%F105#H—o )

_ \ o | - —IRSENA | ER
IS mE | MES | DT | Bovs | ITREESHD
ILd(A) | Pld(kW) | IHd ( A) |PHdA(KW)

EPMa80-15B0.75F-X3%-N2(ZL) 0.75 80 17 3 ES580H-01-0K7G/1K5P-3B 5 15 2.5 0.75
EPMa80-15B1.1F-X3%-N2(ZL) 11 80 24 3 ES580H-01-0K7G/1K5P-3B 5 15 2.5 0.75
EPMa80-15B1.5F-X-N2(ZL) 15 80 34 3 ES580H-01-0K7G/1K5P-3B 6 2.2 42 15
EPMa90-15B2.2F->3%-N2(ZL) 2.2 90 4.8 3 ES580H-01-1K5G/2K2P-3B 9.8 4 5.6 2.2
EPMa90-15B3F-X¢-N2(ZL) 3 90 6.4 3 ES580H-01-2K2G/4K0P-3B 9.8 4 5.6 2.2
EPMal00-15B4F-X3X-N2(ZL) 4 100 8.5 3 ES580H-01-2K2G/4K0P-3B 135 5.5 10.5 4
EPMal112-15B5.5F-3%-N2(HT) 5.5 112 119 3 ES580H-01-4K0G/5K5P-3B 17.5 7.5 14.5 5.5
EPMal12-15B7.5F-X3%-N2(HT)| 7.5 112 15.6 3 ES580H-01-5K5G/7K5P-3B 25 11 17.6 7.5
EPMal32-15B11F-X3X-N2(HT) 11 132 20.8 4 ES580H-02-7K5G/011P-3B 26 15 25 11
EPMa132-15B15F-X%-N2(HT) 15 132 25.8 4 ES580H-02-011G/015P-3B 26 15 25 11
EPMal32-15B15F-X3%-N2(HT) 15 132 25.8 4 ES580H-02A-011G/015P-3B 35 15 25 11
EPMal60-15B18.5F-X3-N2(HT)| 18.5 160 35 4 ES580H-02A-015G/018P-3B 46 22 41 185
EPMa160-15B22F-X%-N2(HT) 22 160 43 4 ES580H-03-018G/022P-3B 61 30 48 22
EPMal80-15B30F-X3-N2(HT) 30 180 55.5 4 ES580H-03-022G/030P-3B 75 37 66 30
EPMal80-15B37F-X3X-N2(HT) 37 180 66 4 ES580H-04-030G/037P-3/B 91 45 79 37
EPMa200-15B45F-X%-N2(HT) 45 200 78.5 4 ES580H-04-037G/045P-3/B 115 55 94 45
EPMa225-15B55F-X3-N2(HT) 55 225 98.5 4 ES580H-04-045G/055P-3/B 155 75 116 55

06




BEREE3000rpm |, 1. 2{EMRZEREL , KEAHEESHPEREN+ B EEESR (BERNA  FUERRTR150%F105 1 —0 )

YA

_ \ | ” o —MRREA | B
EHAS wE | NS | DT | s THRER SIS
ILd(A) PId(kW) | IHd ( A)) |[PHd(KW)

CPMal12-3C7.5FB-B35-N2(HT) 7.5 112 16.5 3 ES580H-02-7K5G/011P-3B 25 11 17.6 7.5
CPMal12-36C7.5FB-B35-N2(HT) 7.5 112 16.5 3 ES580H-02-7K5G/011P-3B 25 11 17.6 7.5
CPMal12-3C11FB-B35-N2(ZL) 11 112 23 3 ES580H-02-011G/015P-3B* 26 15 25 11
CPMal12-3C11FB-B35-N2(ZL) 11 112 23 3 ES580H-02A-011G/015P-3B 35 15 25 11
CPMal12-3C15F-B35-N2(ZL) 15 112 31 3 ES580H-02A-015G/018P-3B 38.6 18.5 35 15
CPMal12-3C18.5FB-B35-N2(HT) 18.5 112 38 3 ES580H-03-018G/022P-3B 46 22 41 18.5
CPMal132-3C22FB-B35-N2(HT) 22 132 45 4 ES580H-03-022G/030P-3B 61 30 48 22
CPMal60-3C30FB-B35-N2(HT) 30 160 57 4 ES580H-04-030G/037P-3/B 75 37 66 30
CPMal60-3C37FB-B35-N2(HT) 37 160 69 4 ES580H-04-037G/045P-3/B 91 45 79 37

*5388 : 1) ES580H-02-011G/015P-3BEEHFEIRANEEIKFNCPMal12-3C11FB-B35-N2(ZL)EEHAT , SNEEERITE163%F 105 ¢ —8h , RREREL.13,

BEFLE3000rpm |, 1. 2EARSZ ALY , KEEHBELSHIPEREY L+ W EEER (—ROBNA , SUERRIEH120%EF105 1 —5 )

_ . | o . . — R EEAVEE
FBHEES T | HES e RXIER TIMES R SARIG
ILd(A) | PId(kW) [IHd (A ) [PHdA(KW)
EPMal12-3C7.5FB-B35-N2(HT) 7.5 112 16.5 3 ES580H-02-7K5G/011P-3B 26 36 25 11
EPMal12-36C7.5FB-B35-N2(HT) 7.5 112 16.5 3 ES580H-02-7K5G/011P-3B 26 36 25 11
EPMal12-3C11FB-B35-N2(ZL) 11 112 23 3 ES580H-02A-011G/015P-3B 37 50 35 15
EPMal12-3C15F-B35-N2(ZL) 15 112 31 3 ES580H-02A-015G/018P-3B 41 57 38.6 18.5
EPMal12-3C18.5FB-B35-N2(HT) 18.5 112 38 3 ES580H-03-018G/022P-3B 48 67 46 22
EPMal32-3C22FB-B35-N2(HT) 22 132 45 4 ES580H-03-022G/030P-3B 63.5 89 61 30
EPMal60-3C30FB-B35-N2(HT) 30 160 57 4 ES580H-04-030G/037P-3/B 78 109 75 37
EPMal60-3C37FB-B35-N2(HT) 37 160 69 4 ES580H-04-037G/045P-3/B 95 133 91 45

*5488 : 1) ES580H-02-011G/015P-3BEER4FEIRENEEIRAICPMal12-3C11FB-B35-N2(ZL)EBHLAT , ZREEBRITE163%E1098—nN , IR HEE1.13,

HEECE

#575/1500rpm H112 H132 H160 H180 H200 H225
B3 6206 2Z 6208 27 6309 27/6209 2Z 6311/6211 6312/6212 6313/6312
V1 6309 27/6206 2Z | 6310 2Z/6208 2Z 6310 2Z/6209 2Z - - -

§875/1500rpm H80 H90 H100
B3 6204 2Z 6205 2Z 6206 2Z
V1l 6305 27/6204 2Z 6306 27/6205 2Z | 6306 2Z/6206 2Z

#k55/3000rpm H112 H132 H160 H180 H200 H225
B3 6204 27 6205 2Z 6206 2Z 6306 2Z 6308 2Z 6309 27/6209 2Z
B35 6305 27/6204 2Z | 6306 2Z/6205 2Z 6308 27/6206 2Z | 6309 2Z/6306 2Z | 6310 2Z/6308 2Z 6310 27/6209 2Z
V18 6204 2Z 6306 27/6205 2Z 6308 27Z/6206 2Z - - -

D infRELSTERT ; S—HURELSHED D/N infEE S1ER
o B o AIER - | TP

09

L&A - B3/B35 & V1I/V18
D iRflFES BEREE < Fr?nog)?/(l)(rlll-m < Fr?'r?e?)?/(l):lll m D itiFaL S iR < Fa%'r?g)?/%?\l m < Fai?gf/?(rlll "m
6204 3000 0.84 0.66 6204 3000 0.87 0.70
6205 3000 091 0.73 6205 3000 0.95 0.77
6305 3000 141 118 6305 3000 143 119
6206 3000 1.27 1.01 6206 3000 1.32 1.05
6306 3000 1.74 1.38 6306 3000 172 1.38
L4751, 1 B3/B35 T 0 VI/V18
D iHFaLS iR < Frfr(\)acigcl):l]\l-m < F::{?:)(O/Cl)(l":l m D imilFES AERiR < Faﬁ)gsgl]\l m | < Fazrt‘r?gf/i?\l m
6208 3000 211 1.68 6208 3000 2.64 211
6308 3000 2.60 2.10 6308 3000 244 1.95
6309 3000 346 274 6309 3000 3.60 2.85
6310 3000 4.23 3.35 6310 3000 5.30 423
6311 3000 4.82 3.84 6311 3000 4.80 3381
6312 3000 5.56 441 6312 3000 5.00 4.40
6313 3000 6.36 5.05 6313 3000 6.30 5.03
47 : B3/B35 L% 0 V1/V18
D SRS AEHAE < Frfnog)g(l)(:l-m < Fr?'r?e?)?/(l):lll m D RIS eI < Fafr?g)?/%]\l m < Fazr"r?g)?/(l)gl]\l m
6204 1500 1.10 0.83 6204 1500 11 0.88
6205 1500 101 0.91 6205 1500 1.2 0.96
6305 1500 1.74 144 6305 1500 1.76 144
6206 1500 161 1.27 6206 1500 1.65 132
6306 1500 2.28 1.93 6306 1500 2.2 1.74
6208 1500 2.39 211 6208 1500 2.65 211
6308 1500 2.60 2.75 6308 1500 3.15 2.52
6309 1500 4.36 3.60 6309 1500 4.52 3.6
6310 1500 5.09 421 6310 1500 5.32 423
6311 1500 6.09 4.80 6311 1500 6.05 48
6312 1500 7.00 5.55 6312 1500 5 5
6313 1500 8.01 6.32 6313 1500 791 6.35




11

BREET

*SURIRER (#55% )

EEESH
ES H80 H90 H100 H112 H132 H160 H180 H200 H225
LR M4 M5 M5 M6 M6 M8 M6 M8 M8
3000rpm 71 3000rpm %1

By ES i1 NEES MR T Ih= R MES FRIRL T
0.75 3000 H80 AWG16 R2-5B 0.75 1500 H80 AWG16 R2-5B
11 3000 H80 AWG16 R2-5B 11 1500 H80 AWG16 R2-5B
15 3000 H80 AWG16 R2-5B 15 1500 H80 AWG16 R2-5B
2.2 3000 H80 AWG16 R2-5B 2.2 1500 H90 AWG16 R2-5B
3 3000 H90 AWG16 R2-5B 3 1500 H90 AWG16 R2-5B
4 3000 H90 AWG14 R2-5B 4 1500 H100 AWG14 R2-5B
55 3000 H100 AWG10 R5.5-6B 55 1500 H112 AWG10 R5.5-6B
By ES 231 MNEES iR I Ih= R MES FBIRLL T
7.5 3000 H100 AWG10 R5.5-6B 7.5 1500 H112 AWG10 R5.5-6B
11 3000 H112 JG6mm2 | R5.5-6B 11 1500 H132 JG6mm?2 | R5.5-6B
15 3000 H112 JG6mm2 | R5.5-6B 15 1500 H132 JGémm2 | R5.5-6B
185 3000 H132 JG10mm2 | R8-S6B 18.5 1500 H160 JGlémm2 | R14-8B
22 3000 H132 |[JG10mm2 | R8-S6B 22 1500 H160 JGlémm2 | R14-8B
30 3000 H160 |[JG16mm2 | R14-8B

37 3000 H160 |[JG16mm2 | R14-8B

3000rpm@1.2SF &7l 3000rpm@1.2SF &5l

% 230 HEES BRiRg U = R HEES BR% i
7.5 3000 H112 JG6mm2 R5.5-6B 22 3000 H132 |[JG16mm2 | R14-6B
7.5 3600 H112 JG6mm2 R5.5-6B 30 3600 H160 |[JG25mm2 | R22-8B
11 3000 H112 JG6mm2 R5.5-6B 37 3000 H160 |[JG25mm2 | R22-8B
15 3000 H112 JG6mm2 R5.5-6B
18.5 3000 H112 JG1mm2 R8-S6B

BEHATE

H&0-H160
it
ETE4  FICIN

H80~H160

&R

1NN « iy

Hi&0-HIIE
L R
KTY84  FICIN
1 E—1 [t —e

«_«

Gy
i

B3 H80~H132

DHTAP
@D

()
:

[}
Ly

i

.
]
!
T

=)

AL
H180~H225

CEL

d b ey

IC416 XA

B

EES

SMEZRST /m

AB

AC

B

C

DHTAP

EPMa80-3C0.75F-B3-N1(ZL)

EPMa80-3C1.1F-B3-N1(ZL)

EPMa80-3C1.5F-B3-N1(ZL)

EPMa80-3C1.5F-B3-N1(ZL)

EPMa80-15B0.75F-B3-N2(ZL)

EPMa80-15B1.1F-B3-N2(ZL)

EPMa80-15B1.5F-B3-N2(ZL)

80

125

158

156

100

50

19

M6x12

40

EPMa90-3C3F-B3-N1(ZL)

EPMa90-3C4F-B3-N1(ZL)

EPMa90-15B2.2F-B3-N2(ZL)

EPMa90-15B3F-B3-N2(ZL)

90

140

175

180

125

56

24

M8x16

50

EPMal00-3C5.5F-B3-N1(ZL)

EPMal00-3C7.5F-B3-N1(ZL)

EPMal00-15B4F-B3-N2(ZL)

100

160

200

194

140

63

28

M10x20

60

EPMal12-3C11F-B3-N1(ZL)

EPMal12-3C15F-B3-N1(ZL)

112

190

225

215

70

60

EPMal32-3C18.5F-B3-N1(ZL)

EPMal32-3C22F-B3-N1(ZL)

132

216

255

255

178

89

38

M12x24

80

12



13

BS

EES

SMEZRT /m

ED

GA

H

HD

EPMa80-3C0.75F-B3-N1(ZL)

EPMa80-3C1.1F-B3-N1(ZL)

EPMa80-3C1.5F-B3-N1(ZL)

EPMa80-3C2.2F-B3-N1(ZL)

EPMa80-15B0.75F-B3-N2(ZL)

EPMa80-15B1.1F-B3-N2(ZL)

EPMa80-15B1.5F-B3-N2(ZL)

80

22

215

80

202

10

327

V1 H80~H132

8

mp_i‘.ﬁﬁ &l & %

EPMa90-3C3F-B3-N1(ZL)

EPMa90-3C4F-B3-N1(ZL)

EPMa90-15B2.2F-B3-N2(ZL)

EPMa90-15B3F-B3-N2(ZL)

90

40

27

90

228

10

369

EPMa100-3C5.5F-B3-N1(ZL)

EPMa100-3C7.5F-B3-N1(ZL)

EPMal00-15B4F-B3-N2(ZL)

100

40

31

100

251

12

385

EPMal12-3C11F-B3-N1(ZL)

EPMal12-3C15F-B3-N1(ZL)

112

50

31

112

268

12

404

EPMal32-3C18.5F-B3-N1(ZL)

EPMal32-3C22F-B3-N1(ZL)

132

60

10

41

132

306

12

498

T
e L A
SMERS/m
BE NEES
AC D DHTAP E ED F GA HF

EPMa80-3C0.75F-V1-N1(ZL)
EPMa80-3C1.1F-V1-N1(ZL) 800 156 19 M6x12 40 22 6 215 220
EPMa80-15B0.75F-V1-N2(ZL)
EPMa80-3C1.5F-V1-N1(ZL)
EPMa80-3C2.2F-V1-N1(ZL)

800 156 24 M8x16 50 40 8 27 220
EPMa80-15B1.1F-V1-N2(ZL)
EPMa80-15B1.5F-V1-N2(ZL)
EPMa90-3C3F-V1-N1(ZL)
EPMad0-3C4F-V1-N1(ZL) 90 180 28 | M10x20 60 50 8 31 262
EPMa90-15B2.2F-V1-N2(ZL)
EPMa90-15B3F-V1-N2(ZL)
EPMal00-15B4F-V1-N2(ZL) | 100® 194 28 |M10x20| 60 50 8 31 262
EPMal00-3C5.5F-V1-N1(ZL)

100@® 194 38 |M12x24| 80 60 10 41 297
EPMal00-3C7.5F-V1-N1(ZL)
EPMal12-3C11F-V1-N1(ZL)

112 215 42 |[m16x32| 110 100 12 45 350
EPMal12-3C15F-V1-N1(ZL)
EPMal32-3C18.5F-V1-N1(zL)| 132® 255 42  [Mm16x32| 110 100 12 45 350
EPMal32-3C22F-V1-N1(ZL) | 132® 255 48  [M16x32| 110 100 14 50.5 350
V18 H80~H100
DHTAP GA
@0

INERS/m
pilk= S Z
AC D DHTAP E ED F GA HF

EPMa80-3C0.75F-V1-N1(ZL)

80 159 19 M6x12 40 22 6 21.5 100
EPMa80-3C1.1F-V1-N1(ZL)
EPMa80-15B0.75F-V1-N2(ZL)

800 159 24 M8x16 50 40 8 27 100
EPMa80-3C1.5F-V1-N1(ZL)
EPMa80-3C2.2F-V1-N1(ZL)

90 180 28 |M10x20| 60 50 8 31 215
EPMa80-15B1.1F-V1-N2(ZL)
EPMa80-15B1 5F-VI-N2(Z) |4 196.5 38 |M12x24| 80 60 10 41 240
EPMa90-3C3F-V1-N1(ZL)

14



15

SMEZRS/m
A= HEES
L M N P S T
EPMa80-3C0.75F-V18-N1(ZL)
80D 331 100 80 129 M6 3
EPMa80-3C1.1F-V18-N1(ZL)
EPMa80-3C1.5F-V18-N1(ZL)
80Q@ 341 115 95 134 M8 3
EPMa80-3C2.2F-V18-N1(ZL)
EPMa90-3C3F-V18-N1(ZL)
90 382 130 110 148 M8 3.5
EPMa90-3C4F-V18-N1(ZL)
EPMal00-3C5.5F-V18-N1(ZL
@ (b 100 420 165 130 184 M10 4
EPMal00-3C7.5F-V18-N1(ZL)
B3 H112~H280
l‘T"
e i
OHTAP GA ED
) | g
Bo
L — L]
‘E: Ll -~ 1
E | C B
L
MRS /m
BS WS
A AB AC B C D DHTAP E
EPMa112-15B5.5F-B3-N2(HT)
112 190 226 217 140 70 28 M10x20| 60
EPMal12-15B7.5F-B3-N2(HT)
EPMal132-15B11F-B3-N2(HT)
132 216 262 258 178 89 38 M12x24| 80
EPMa132-15B15F-B3-N2(HT)
EPMal60-15B18.5F-B3-N2(HT)
EPMa160-15B22F-B3-N2(HT) 160 254 314 314 254 108 42 M16x32| 110
EPMal60-3C30F-B3-N1(HT)
EPMal60-3C37F-B3-N1(HT)
EPMa180-15B30F-B3-N2(HT)
EPMa180-15B37F-B3-N2(HT) 180 279 349 355 241 121 48 M16x32| 110
EPMa180-3C45F-B3-N1(HT)
EPMa200-15B45F-B3-N2(HT)
200 318 388 397 305 133 55 M20x40 | 110
EPMa200-3C55F-B3-N1(HT)
EPMa225-15B55F-B3-N2(HT)
225 356 431 446 286 149 60 M20x40| 140
EPMa225-3C75F-B3-N1(HT)

MRS /m
B2 nEe
ED F CA H HD K L
EPMa80-3C0.75F-V18-N1(ZL)
112 50 8 31 112 295 12 473
EPMa80-3C1.1F-V18-N1(ZL)
EPMa80-3C1.5F-V18-N1(ZL)
132 60 10 41 132 335 12 539
EPMa80-3C2.2F-V18-N1(ZL)
EPMa90-3C3F-V18-N1(ZL)
EPMa90-3C4F-V18-N1(ZL)
160 100 12 45 160 160 15 682
EPMa100-3C5.5F-V18-N1(ZL)
EPMal100-3C7.5F-V18-N1(ZL)
EPMal00-3C5.5F-V18-N1(ZL)
EPMal00-3C5.5F-V18-N1(ZL) 180 100 14 51.5 180 453 14.5 717
EPMal00-3C5.5F-V18-N1(ZL)
EPMal00- S5F-V18-N1(ZL
a100-3¢5.5 8 b 200 100 16 59 200 500 18.5 776
EPMal00-3C5.5F-V18-N1(ZL)
EPMal00- SF-V18-N1(ZL
al00-3¢5.5 8 b 225 120 18 63 225 548 18.5 817
EPMal00-3C5.5F-V18-N1(ZL)
V1 H112~H160
F ED)
a0 &5 B
e
E
_E | )
MRS /m
i S
AB D DHTAP E ED F GA HF
EPMal12-15B5.5F-B3-N2(HT)
112 217 38 M12x24 80 60 10 41 331
EPMal12-15B7.5F-B3-N2(HT)
EPMal132-15B11F-B3-N2(HT)
132 258 42 M16x32 110 100 12 45 376
EPMal32-15B15F-B3-N2(HT)
EPMal60-15B18.5F-B3-N2(HT)
160 314 48 M16x32 110 100 14 50.5 427
EPMal60-15B22F-B3-N2(HT)
MR /m
L= s “
L M N P S T
EPMal12-15B5.5F-V1-N2(HT)
112 509 265 230 300 14.5 5
EPMal12-15B7.5F-V1-N2(HT)
EPMal132-15B11F-V1-N2(HT)
132 580 300 250 350 18.5 5
EPMal32-15B15F-V1-N2(HT)
EPMal60-15B18.5F-V1-N2(HT)
160 694 300 250 350 18.5 5
EPMal60-15B22F-V1-N2(HT) 16




B35 H112~H132

IMERST/m
BS NeEEs
ED F CA H HD K L
EPMa80-3C0.75F-V18-N1(ZL)
112 50 8 31 112 295 12 473
EPMa80-3C1.1F-V18-N1(ZL)
EPMa80-3C1.5F-V18-N1(ZL)
132 60 10 41 132 335 12 539
EPMa80-3C2.2F-V18-N1(ZL)
EPMa90-3C3F-V18-N1(ZL)
EPMa90-3C4F-V18-N1(ZL)
160 100 12 45 160 160 15 682
EPMa100-3C5.5F-V18-N1(ZL)
EPMal00-3C7.5F-V18-N1(ZL)
EPMa100-3C5.5F-V18-N1(ZL)
EPMal00-3C5.5F-V18-N1(zL)| 180 100 14 51.5 180 453 145 717
EPMa100-3C5.5F-V18-N1(ZL)
EPMa100-3C5.5F-V18-N1(ZL
2 @O 500 100 16 59 200 500 18.5 776
EPMal100-3C5.5F-V18-N1(ZL)
EPMa100-3C5.5F-V18-N1(ZL
é @Ol 505 120 18 63 225 548 18.5 817
EPMa100-3C5.5F-V18-N1(ZL)

, 09 @
mm% G4 é o
2 r & & < '
: |
= |
E_::C_ B |
~ L
RERIRAZE/mm
£S S — AB AC B g&éij&AEg DHTAP E ED F
EPMa112-15B5.5F-B3-N2(HT)
EPMa112-15B7.5F-B3-N2(HT)
EPMal32-15B11F-B3-N2(HT) | 112 190 226 217 | 140 70 28 [M10x20| 60 50 8
EPMa132-15B15F-B3-N2(HT)
EPMa160-15B18.5F-B3-N2(HT)
EPMal60-15B22F-B3-N2(HT) | 132 216 262 258 | 178 89 38 |M12x24| 80 60 10
FPMa160-3C30F-B3-N1(HD 160 254 314 314 254 108 42 |m16x32| 110 100 12
EPMal60-3C37F-B3-N1(HT)
LERT R AE/Mm
£ ES H HD K grﬁéTj&Aﬁia N P S T
EPMa112-15B5.5F-B3-N2(HT)
EPMa112-15B7.5F-B3-N2(HT)
EPMal32-15B11F-B3-N2(HT) | 112 31 112 393 12 521 215 [M10x20| 180 14.5 4
EPMa132-15B15F-B3-N2(HT)
EPMa160-15B18.5F-B3-N2(HT)
EPMal60-15B22F-B3-N2(HT) | 132 41 132 335 12 601 265 |M12x24| 230 185 | 4
EPMal60-3C30F-B3-N1(HD 160 45 160 416 15 760 300 |M16x32| 250 185 5
EPMa160-3C37F-B3-N1(HT)
<400 +5 H <250 -0.5~0
L > 400 +10 F h8
<60 +15 HD/HF/P +5
C <100 +2 GA <27 -0.11~0
<140 +3 GA <63 -0.29~0
>140 +4 K HY
<28 i6 S H9
D <48 k6 N j6
<75 mé T <s h7
E jsla T >5 h7

17

18



19

BRI

H80~H100 H112
RS EAHIFE/kg BERT BE (A8%) /kg
EPMa80-3C0.75F-B3-N1(ZL) 7.8 244*365*221 8.8
EPMa80-3C1.1F-B3-N1(ZL) 8.2 244*365*221 9.2
EPMa80-3C1.5F-B3-N1(ZL) 9.7 244*365*221 10.7
EPMa80-3C2.2F-B3-N1(ZL) 104 244*365*221 114
EPMa80-15B0.75F-B3-N2(ZL) 11 244*365*221 12
EPMa80-15B1.1F-B3-N2(ZL) 12 244*365*221 13
EPMa80-15B1.5F-B3-N2(ZL) 13 244*365*221 14
EPMa80-3C0.75F-V18-N1(ZL) 113 264*264*443 123
EPMa80-3C1.1F-V18-N1(ZL) 11.7 264*264*443 127
EPMa80-3C1.5F-V18-N1(ZL) 136 264*264*443 14.6
EPMa80-3C2.2F-V18-N1(ZL) 153 264*264*443 16.3
EPMa80-15B0.75F-V18-N2(ZL) 14.5 264*264*443 16.5
EPMa80-15B1.1F-V18-N2(ZL) 15 264*264*443 17
EPMa80-15B1.5F-V18-N2(ZL) 16 264*264*443 18
EPMal12-3C7.5F-B35-N1(HT) 47 289*564*340 60
EPMal12-36B7.5F-B35-N1(HT) 4 289*564*340 60
EPMal12-3C11F-B35-N1(HT) 52 289*564*340 65
EPMal12-3C15F-B35-N1(HT) 57 289*564*340 70
EPMal12-3C18.5F-B35-N1(HT) 60 289*564*340 73
EPMal12-15B5.5F-B3-N2(HT) 44 289*564*340 55.3
EPMal12-15B7.5F-B3-N2(HT) 48 289*564*340 583
EPMal32-3C18.5F-B3-N1(ZL) 535 374*399*620 76.6
EPMal132-3C22F-B3-N1(ZL) 57.5 374*399*620 80.6
EPMal12-15B5.5F-B3-N2(HT) 525 374*399*620 65.5
EPMal12-15B7.5F-B3-N2(HT) TBD 374*399*620 TBD
EPMal32-15B11F-B3-N2(HT) 73 374*399*620 88.5
EPMal32-15B15F-B3-N2(HT) 83 374*399*620 98.5

BES FEHLI#E/kg BRRT BE (88%) /kg
EPMal60-3C30F-B3-N1(HT) 125 394*384*450 140.1
EPMal60-3C37F-B3-N1(HT) 135 394*384*450 150.1
EPMal60-3C30F-B35-N1(HT) 113 394*384*450 136.1
EPMal60-3C37F-B35-N1(HT) 122 394*384*450 1451
EPMal60-15B18.5F-B3-N2(HT) 116 394*384*450 1311
EPMal60-15B22F-B3-N2(HT) 122 394*384*450 1371
EPMa100-3C5.5F-V1-N1(ZL) 27.7 344*344*248 40.7
EPMal00-3C7.5F-V1-N1(ZL) 313 344*344*248 443
EPMal00-3C5.5F-V18-N1(ZL) 24.2 344*344*248 353
EPMal00-3C7.5F-V18-N1(ZL) 27.8 344*344*248 389
EPMal00-15B4F-V1-N2(ZL) 285 344*344*248 39.6
EPMa80-3C0.75F-V18-N1(ZL) 9.2 235*235*418 11.2
EPMa80-3C1.1F-V18-N1(ZL) 9.6 235*235*418 116
EPMa80-3C1.5F-V18-N1(ZL) 122 235*235*418 14.2
EPMa80-3C2.2F-V18-N1(ZL) 139 235*235*418 159
EPMa90-3C3F-V1-N1(ZL) 191 300*300*465 20.6
EPMa90-3C4F-V1-N1(ZL) 19.9 300*300*465 31
EPMa90-15B2.2F-V1-N2(ZL) 22 300*300*465 235
EPMa90-15V1F-V1-N2(ZL) 235 300*300*465 25
EPMa90-3C3F-B3-N1(ZL) 141 414*265%248 156
EPMa90-3C4F-B3-N1(ZL) 149 414*265*248 16.4
EPMa90-15B2.2F-B3-N2(ZL) 17 414%265*248 18.5
EPMa90-15B3F-B3-N2(ZL) 18 414*265*248 19.5
EPMal00-3C5.5F-B3-N1(ZL) 189 439*286*310 27.6
EPMal00-3C7.5F-B3-N1(ZL) 225 439*286*310 31.2
EPMal00-15B4F-B3-N2(ZL) 23 439*286*310 31.7
EPMal32-3C22F-B35-N1(HT) 73 634*334*370 88.5
EPMal32-15B11F-B3-N2(HT) 65.5 634*334*370 77
EPMal32-15B15F-B3-N2(HT) 73.5 634*334*370 85
EPMal80-3C45F-B3-N1(HT) 141 781*508*508 TBD
EPMa180-15B30F-B3-N2(HT) 142 781*508*508 TBD
EPMa180-15B37F-B3-N2(HT) 153 781*508*508 TBD
EPMa90-3C3F-V18-N1(ZL) 16.5 263*263*460 18
EPMa90-3C4F-V18-N1(ZL) 173 263*263*460 18.8
EPMal12-3C11F-B3-N1(ZL) 243 286*439*310 33.6
EPMal12-3C15F-B3-N1(ZL) 34 286*439*310 33.6
EPMal12-3C11F-V1-N1(ZL) 37.2 374*374*620 527
EPMal12-3C15F-V1-N1(ZL) 46.5 374*374*620 62
EPMal60-15B18.5F-V1-N2(HT) 111 534*534*740 1341
EPMal60-15B22F-V1-N2(HT) 119 534*534*740 1421
EPMal32-3C18.5F-B3-N1(ZL) 424 564*289*340 53.9
EPMal32-3C22F-B3-N1(ZL) 47.6 564*289*340 591
EPMa200-15B45F-B3-N2(HT) 177 840*494*555 TBD
EPMa200-3C55F-B3-N1(HT) 221 840*494*555 TBD

20



3000rpm RFUBHFASE

BUEFEIE3000rpm KEAHBNRICHFEFEN + IXANREBAER (—RAHNA , FERRIH120%E105 49— )

BESH =HISE -
= I | HEE| % 9 s — MR RERA
s Tle 2 (10ad%) | sos | thex | mee | wse | 4 0| 1o IREBSH| R | 862 | 2 — FEYES WE | NES | e | 9 MBI ST
- { v » i g
100% 75% 50% %g& ;& Eglﬁ TH%E ’5& gé& EE,,ﬁE Tjr‘.ii ILd(A) Pld(kW)
EPMa80-3C0.75F-3%-N1(ZL) 075 | 80 | 863 835 | 835 | 1E5 [085| 15 [ 23 | 3 |[TBD [ TBD | 70 | 35 [0.0007| 7.8 | 67 EPMa80-3C0.75F-30%-N1(ZL) 0.75 80 L5 3 ES580H-01-0K7G/1K5P-3B > L5
N EPMa80-3C1.1F-*3%-N1(ZL) 11 80 2.3 3 ES580H-01-0K7G/1K5P-3B 5 15
EPMa80-3C1.1F-%-N1(ZL) 11| 80 | 878|841 | 841 | 1E5 |085| 23 | 35 | 3 |TBD | TBD | 65 | 54 |0.0007| 82 | 67
EPMa80-3C1.5F-33-N1(ZL) 15 80 31 3 ES580H-01-0K7G/1K5P-3B 5 15
EPMa80-3C1.5F-%-N1(ZL) 15 | 80 | 889|854 | 854 | 1E5 | 085 | 31 | 47 | 3 |7TBD | TBD | 65 | 72 |000L| 97 | 67
EPMa80-3C2.2F-*3-N1(ZL) 2.2 80 4.4 3 ES580H-01-1K5G/2K2P-3B 6 2.2
EPMa80-3C2.2F-%-N1(ZL) 22 | 80 [ 902 | 896 | 896 | IE5 | 085 | 44 | 7 3 [TBD | TBD | 65 | 11.2 [0.0012| 104 | 67
EPMa90-3C3F-%3-N1(ZL) 3 90 5.8 3 ES580H-01-2K2G/4K0P-3B 9.8 4
EPMa90-3C3F-3%-N1(ZL) 3 90 | 922 | 906 | 906 | IE5 | 085 | 58 | 95 | 3 | 30 | 90 65 | 149 [0.0025| 141 | 72
EPMa90-3C4F-*3-N1(ZL) 4 90 8 3 ES580H-01-2K2G/4K0P-3B 9.8 4
EPMa90-3C4F-3%-N1(ZL) 4 | 90 | 927|912 |912| IE5 |08 | 8 |[127| 3 | 25 | 75 65 | 19.8 [0.0028| 149 | 72
EPMal00-3C5.5F->3%-N1(ZL) 5.5 100 11 3 ES580H-01-4K0G/5K5P-3B 135 55
EPMa100-3C5.5F-3%-N1(ZL) 55 | 100 | 93.2 | 92 | 92 | 15 | 087 | 11 |175| 3 | 20 | 55 65 | 257 [0.0048| 189 | 76
EPMal00-3C7.5F-%3%-N1(ZL) 7.5 100 14.7 3 ES580H-01-5K5G/7K5P-3B 175 7.5
EPMa100-3C7.5F-3%-N1(ZL) 75 | 100 | 93.9 [ 932 | 932 | 15 | 087 | 147 [ 238 | 3 | 15 | 40 65 | 343 [0.0063| 225 | 76 —
EPMall2-3C11F-*3-N1(ZL) 11 112 23 3 ES580H-02-7K5G/011P-3B 25 11
EPMal12-3C11F-33%-N1(ZL) 11 | 112 | 939 | 936 | 936 | IE5 | 089 | 23 | 35 3 [ 10 | 30 65 | 583 [0.0103| 243 | 77 EPMal12-3C15F %% N1(ZL) 15 112 30 3 ESS580H-02A-011G/015P-38 35 1s
EPMal12-3C15F-x0%-N1(ZL) 15 | 112 | 944 | 941 | 941 | 1E5 | 09 | 30 |478 | 3 | 10 | 30 70 | 747 |0.0137| 34 | 77 EPMal32-3C18.5F-56¢-N1(ZL) | 18.5 132 37 4 ES580H-02A-015G/018P-3B 386 185
EPMal32-3C18.5F-3%-N1(ZL) | 185 | 132 | 947 | 934 | 934 | 15 [ 091 | 37 [ 587 | 4 | 6 17 88 | 887 [0.0306| 424 | 80 EPMa132-3C22F-30%-N1(ZL) 27 132 43 4 ES580H-03-018G/022P-3B 26 2
EPMal32-3C22F-3-N1(ZL) 22 132 | 949 | 943 | 943 | IE5 | 091 43 70 4 5 15 88 105 |0.0348( 47.6 | 80 EPMa160-3C30F-X%-N1(HT) 30 160 56 4 ES580H-03-022G/030P-3B 61 30
EPMal60-3C30F-%3<-N1(HT) 30 160 | 951 [ 949 | 949 | IE5 [ 088 | 56 | 955 4 | TBD | TBD 83 1425 |0.0749| 125 | 84 EPMal60-3C37F-X-N1(HT) 37 160 70 4 ES580H-04-030G/037P-3/B 75 37
EPMa160-3C37F-x0%-N1(HT) 37 | 160 | 955 [ 951 | 951 | IE5 | 088 | 70 | 118 | 4 |[TBD | TBD | 83 [180.5 [0.0922| 135 | 84 EPMa180-3C45F-3%-N1(HT) 45 180 85 4 ES580H-04-037G/045P-3/B 91 45
EPMa180-3C45F-30-N1(HT) 45 | 180 | 958 | 955 | 955 | IE5 | 09 | 85 |1433| 4 |TBD | TBD | TBD | TBD | TBD | 141 | 88 EPMa200-3C55F-3%-N1(HT) 55 200 101 4 ES580H-04-045G/055P-3/B 115 55
EPMa200-3C55F-3%-N1(HT) 55 | 200 | 96 |957 | 957 | 1E5 | 091 | 101 |1751| 4 |TBD | TBD | TBD | TBD | TBD | 177 | 90 EPMa225-3C75F-%3%-N1(HT) 75 225 134 4 ES580H-05-055G/075P-3/B 155 75
EPMa225-3C75F-30¢-N1(HT) 75 | 225 | 963 | 956 | 956 | IE5 | 091 | 134 [2388| 4 |TBD | TBD | TBD | TBD | TBD | 255 | 92
*BART : EBR/A. THEE/N-m, EBR/mH. 188/kg-m2, 187/dB (EER ) 3000rpm@1-25F gﬁ”@;‘ﬂ}ij{%ﬁ
BNEFEIE3000rpmsk i SR HEFEN L+ XNRASER (EHNA , FEBRRIH150%F105H—5 ) s B
- —MRRER A BN = THER | WLEE| s 9 N N -
T p# | e | TE | g S BS g | (10ad%) |y | mhee | e | se | iR s LU ] M
ILd(A) | PId(kW) | IHd ( A) |PHd(KW) 100%)|75% | 50% i = i | T
EPMa80-3C0.75F-X%-N1(ZL) 0.75 80 15 3 ES580H-01-0K7G/1K5P-3B 5 15 25 0.75 EPMa112-3C7.5FB-B35-N2(HT) | 7.5 | 112 [ 91.7 | 91 | 933 | IE4 | 082 | 165 | 238 | 3 |TBD [ TBD | TBD 28 (0.0076| 60 | 79
EPMa80-3C1.1F-3%-N1(ZL) 11 80 23 3 ES580H-01-0K7G/1K5P-3B 5 15 25 0.75 EPMal12-36C7.5FB-B35-N2(HT)| 7.5 | 112 [ 91.7 | 91 | 933 | 14 | 082 | 165 | 199 | 3 |442 |1749| 52 28 00076 60 | 81
EPMa80-3C1.5F-X-N1(ZL) 15 80 31 3 ES580H-01-1K5G/2K2P-3B 6 2.2 4.2 15 EPMal12-3C11FB-B35-N2(ZL) 11 | 112 | 926 | 919 | 912 | €4 | 085 | 23 | 35 3 |804 |1963| 65 |476 (00101 65 | 81
EPMa80-3C2.2F-X%-N1(ZL) 22 80 44 3 ES580H-01-1K5G/2K2P-3B 6 22 4.2 15 EPMa112-3C15F-B35-N2(ZL) 15 | 112 | 933 | 925 | 917 | €4 | 085 | 31 | 478 | 3 |3.05(1349| 66 | 608 |00135| 70 | 81
EPMa90-3C3F-3X-N1(ZL) 3 90 5.8 3 ES580H-01-2K2G/4KO0P-3B 9.8 4 5.6 22 EPMal12-3C18.5FB-B35-N2(HT)| 185 | 112 | 93.7 | 93 | 924 | 14 | 085 | 38 | 589 | 3 |T8D |TBD | TBD | 72 |0.0169| 73 | 81
EPMa90-3C4F-X3¢-N1(ZL) 4 90 8 3 ES580H-01-4K0G/5K5P-3B 135 55 10.5 4 EPMal32-3C22FB-B35-N2(HT) | 22 | 132 | 94 |931 | 926 | 14 |09 | 45 | 70 | 4 [139 372 | 46 | 100 |0.0348| 885 | 83
EPMal00-3C5.5F-X0X-N1(ZL) 5.5 100 1 3 ES580H-01-4K0G/5K5P-3B 135 5.5 105 4 EPMal60-3C30FB-B35-N2(HT) | 30 | 160 | 945 | 937 | 93 | 14 | 092 | 57 | 955 | 4 |218 | 74 72 | 110 [0.0746|136.1| 84
EPMal00-3C7.5F-3N1(ZL) 75 100 147 3 ES580H-02-7K5G/011P-38 2 - 176 75 EPMal60-3C37FB-B35-N2(HT) | 37 | 160 | 948 | 94 | 933 | 14 | 093 | 69 [1177| 4 | 13 |457 | 73 | 145 0092|1451 84
EPMall2-3C11F-x3-N1(ZL) 11 112 23 3 ES580H-02-011G/015P-3B 26 15 25 11 N N = o -
*EA( : EBR/A. HHEE/N-m. EBEY/mH, 1B8/kg-m2. IE7/dB (FEER )
EPMal12-3C15F-3<-N1(ZL) 15 112 30 3 ES580H-02A-015G/018P-3B 38.8 18.5 35 15
EPMal32-3C18.5F-%3*-N1(ZL) 15 132 37 4 ES580H-02A-015G/018P-3B* 38.8 185 35 15
EPMal132-3C18.5F-*3%-N1(ZL) 15 132 37 4 ES580H-03-018G/022P-3B 46 22 41 18.5
EPMal32-3C22F-*3-N1(ZL) 22 132 43 4 ES580H-03-018G/022P-3B* 46 22 41 185
EPMal32-3C22F-*-N1(ZL) 22 132 43 4 ES580H-03-022G/030P-3B 61 30 48 22
EPMal60-3C30F-X3-N1(HT) 30 160 56 4 ES580H-04-030G/037P-3/B 75 37 66 30
EPMal60-3C37F-X3-N1(HT) 37 160 70 4 ES580H-04-037G/045P-3/B 91 45 79 37
EPMal80-3C45F-3¢-N1(HT) 45 180 85 4 ES580H-04-045G/055P-3/B 115 55 94 45
EPMa200-3C55F-%-N1(HT) 55 200 101 4 ES580H-04-045G/055P-3/B* 115 55 94 45
EPMa200-3C55F-3-N1(HT) 55 200 101 4 ES580H-05-055G/075P-3/B 155 75 116 55
EPMa225-3C75F-33¢-N1(HT) 75 225 134 4 ES580H-05-075G/090P-3/B 178 90 160 75

07 *58H : 1) ES580H-02A-015G/018P-3BRE$SHIHALRENSEIRENEPMa132-3C18.5F-3C«-N1(ZL)EB#AT , SiErEmid2141% =100 F—n 8.
2) ES580H-03-018G/022P-3BEHHLIEIRENEEIRFIEPMal132-3C22F-XX%-N1(ZL)EBHAT , BErB g s 143% 81098 —oah,
3) ES580H-04-045G/055P-3/BRI:SHFEIRzNSEIRENEPMa200-3C55F-3G%-N1(HT)EBHAT , SREEB T E139%E 105 ¢ —o 4



